
Integralrechnung (Partialbruchzerlegung) Lösungen+ Übungen

Aufgabe 1∫ 0

−1

u+ 1

u− 1
du = . . .

Polynomdivision: (u+ 1) : (u− 1) = 1 +
2

u− 1

. . . =

∫ 0

−1

(
1 +

2

u− 1

)
du =

[
u+ 2 ln |u− 1|

]0
−1

=
(
0 + 2 ln(1)

)
−

(
−1 + 2 ln(2)

)
= 1− 2 ln(2)

Aufgabe 2

Partialbruchzerlegung:
1

t2 − 1
=

A

t− 1
+

B

t− 1

1 = A(t+ 1) +B(t− 1)

1 = (A+B)︸ ︷︷ ︸
0

t+ (A−B)︸ ︷︷ ︸
1

⇒ A = 1
2
, B = −1

2∫ 3

2

1

t2 − 1
dt =

1

2

∫ 3

2

(
1

t− 1
− 1

t+ 1

)
dt

=
1

2

[
ln |t− 1| − ln |t+ 1|

]3
2
=

1

2
(ln 2− ln 4− ln 1 + ln 3)

=
1

2
ln

2 · 3
4

=
1

2
ln

3

2
Beachte: loga(x · y) = loga(a) + loga(b)

loga(x : y) = loga(a) − loga(b)

Aufgabe 3∫ 1

−1

13− x

x2 − x− 6
dx =

∫ 1

−1

13− x

(x+ 2)(x− 3)
dx = . . .

Partialbruchzerlegung:
13− x

(x+ 2)(x− 3)
=

A

x+ 2
+

B

x− 3

13− x = A(x− 3) +B(x+ 2)

−x+ 13 = (A+B)︸ ︷︷ ︸
−1

x+ (−3A+ 2B)︸ ︷︷ ︸
13

⇒ A = −3, B = 2

1



. . . =

∫ 1

−1

(
2

x− 3
− 3

x+ 2

)
dx =

[
2 ln |x− 3| − 3 ln |x+ 2|

]1
−1

= 2 ln(2)− 3 ln(3)− 2 ln(4) + 3 ln(1) = 2 ln(1
2
)− 3 ln(3)

= ln(1
4
)− ln(27) = ln( 1

108
) = − ln(108)

Aufgabe 4∫ 4

2

z2 + 1

z2 − 1
dz =

∫ 4

2

z2 + 1

(z − 1)(z + 1)
dz = . . .

Polynomdivision: (z2 + 1) : (z2 − 1) = 1 +
2

z2 − 1

Partialbruchzerlegung:
2

(z − 1)(z + 1)
=

A

z − 1
+

B

z + 1

2 = A(z + 1) +B(z − 1)

2 = (A+B)︸ ︷︷ ︸
0

z + (A−B)︸ ︷︷ ︸
2

⇒ A = 1, B = −1

. . . =

∫ 4

2

(
1 +

1

z − 1
− 1

z + 1

)
dz =

[
z + ln |z − 1| − ln |z + 1|

]4
2

= 4 + ln(3)− ln(5)− 2− ln(1) + ln(3) = 2 + ln
(
9
5

)
Aufgabe 5

2 + ln(18)

Aufgabe 6

Polynomdivision: (3u2 + 3u− 4) : (u+ 2u+ 1) = 3− 3u+ 7

(u+ 1)2

Partialbruchzerlegung:
3u+ 7

(u+ 1)2
=

A

u+ 1
+

B

(u+ 1)2
|| · HN

3u+ 7 = A(u+ 1) +B

3u+ 7 = Au+ (A+B)

3 = A

7 = A+B ⇒ B = 4∫ 2

0

3u2 + 3u− 4

(u+ 1)2
du =

∫ 2

0

(
3− 3

u+ 1
− 4

(u+ 1)2

)
du

=

[
3u− 3 ln |u+ 1|+ 4

u+ 1

]2
0

= 6− 3 ln(3) + 4
3
− 4 = 10

3
− 3 ln(3)

Aufgabe 7

2



∫ −1

−3

y + 8

12y − 3y2
dy =

1

3

∫ −1

−3

y + 8

y(4− y)
dy = . . .

Partialbruchzerlegung:
y + 8

y(4− y)
=

A

y
+

B

4− y

y + 8 = A(4− y) +By

y + 8 = (−A+B)︸ ︷︷ ︸
1

y + 4A︸︷︷︸
8

⇒ A = 2, B = 3

. . .
!
=

1

3

∫ −1

−3

(
2

y
− 3

y − 4

)
dy =

1

3

[
2 ln |y| − 3 ln |y − 4|

]−1

−3

=
1

3

(
2 ln(1)− 3 ln(5)− 2 ln(3) + 3 ln(7)

)
= ln(7)− ln(5)− 2

3
ln(3) = ln

(
7

5

)
− 2

3
ln(3)

Aufgabe 8

q(x) = x8 − x7 − x6 + 3x5 − 7x4 + 9x3 − 7x2 + 5x− 2

x0 −1 −1 3 −7 9 −7 5 −2
1 1 0 −1 2 −5 4 −3 2 0
1 1 1 0 2 −3 1 −2 0
1 1 2 2 4 1 2 0

−2 1 0 2 0 1 0

q(x) = (x− 1)3(x+ 2)(x4 + 2x2 + 1) = (x− 1)3(x+ 2)(x2 + 1)2

1

(x+ 2)(x− 1)3(x2 + 1)2
=

A11

x+ 2

+
A21

x− 1
+

A22

(x− 1)2
+

A23

(x− 1)3

+
B11x+ C11

x2 + 1
+

B12x+ C12

(x2 + 1)2

3


